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( Major )

Paper : 6.5

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer in Bodo

1. 41^14^ ^ : 1x7=7

(^) RiPiRih smn wmt

(^) "^aiFTT

3TF|2TT| '̂ ?IFTT HI

•f^l

TRR Glottal Stopfr ^TFPPIPT i % |

("^) ^#rci (Consonant Cluster) 3TRt
'TT^jfT^ ft^rrcf^ (Conjunct Consonant)
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(^) Rhi^I, 3TKt TRf^

(7T) m', l^irmr, TT«n, and 1^
^STFlfe-Wn "iTt^ TMf% aJl^dlf^R

#R1

(^) ttr', "R^twt, Tmr, +=h«ii4j snft 1^ iraPf
•5TPri^-Wn TI^ ^TRR

%^l

(^) -tr', I^rrtt, Tmr, siRt
•^TFlf^- •5TRn -q^ TRf^ sn^

f^I

4. •^' TR xi^i^iHi^ ^
^h-^iR xra im RHter strpi xrmrft
«ri*iA "qtqiPtR XRfq ^trr 0<ai "vtxqpRT i lo

rk\ Rqwi, TT^, 4>+«R4) axi^ to xto wrf^-^sipn
nl'i^ XTcrf^ 'iKi ^ilni <al<I ftXTRfsR^

tolto qtoPRT to I • . 10

5. ^', toXTT, W, 3TKt to wrMf
. to^-^5TFn tot xrR •^'

toqpRT to I 10

ttr', toxTT, TiRT, axT^ tor XRtof^
•=5TFri^-«Tpn hIh^ xiRtoff
x^tof^toqpRTtoi 10

/128 3 [ P.T.O.



6. tTR', %rRTT, TT^, 3TRt to Tl^
^ ton 1to M (Glottal Stop, ^
"fee ^amnft to ^) t#f toto
ntomr toi lo

m\ fton, Trnr, to to tokfn
^to%-^5TFn "nto Tito ?t?r toto toto

tonRRT #R I lo

ir -k -fr
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